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sy, 33. Hisin the interior of ZJAK mZJAH = (3x - 8)°, and mZKAH = (x + 2)°. Draw a
MuLTi-STEP picture of each relationship. Then find the measure of each angle.

a. ZJAH and ZKAH are complementary angles.
b. ZJAH and ZKAH form a linear pair.
¢ ZJAH and ZKAH are congruent angles.
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Determine whether each statement is true or falée. If false, explain why. lein fx 'zo’ 1

oc!
34. If an angle is acute, then its complement must be greater than its supplement\w_w

35. A pair of vertical angles may also form a linear pair, False V.A. must beacross
P gles may P om edch other — no+ next +o.
36. If two angles are supplementary and congruent, the measure of each angle is 90° ey e

37. If araydivides an angle into two complementary angles, then the original angle

is a right angle. TRwe

3. 38. Write About It Describe a situation in w two angles are both congruent and
complementary. Explain. \{0\,{ tell

42. The measures of two supplementary angles are in the ratio 7:5. Which value is the
measure of the smaller angle? (Hint: Let 7x and 5x represent the angle measures.)
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